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Jull marks for the questions.

Answer either in English or in Assamese.

1. Answer the following as directed : (any ten)
1x10=10
et fral eiars o sl e i ¢ (R
7251 _
(a) ‘Young person’ means a person who is
either a child or an adolescent.
(True/False)
@ IS’ WA 2z o fe [ o= iy wg-
e | (8%/G%%)
(b) Child labour can work in night shift.
(True/False)
i afire Ifs I @ =@ (o5/995)
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(c) Retr . i) Collective bargaining ensures the
) reiirgi;l:ringf Elt bt e\ s volumary b pzc:rtii?pation of : ii industry.
e é@\rvorkman. (True/ False) (Fill up the gap)
Toim | R ) GTRIA TS FERHSAMAE__ @IS
(d) No adult worke (S%/mam) At e | (NfeT 512 239 731)
allowed to Workri;hslir Lo ool 7 () Adjudication is the stage in the
than forty-eight p a7y, lor mort settlement of industrial disputes.
SHthours in a week. (Fill up the gap)
G 2T W gy WW?:: QF;\;} TG T T o1 Seiei Rl
SIS 0 <51 ST o R e | fresife = | (31T 1Z 2479 1)
(k) Which one of the following is objective of
(e) Child labour ¢g (&% 95%) workers’ participation in management ?
S hours in g day. s morc that (Choose the correct answer)
Fte i i ‘a«w‘s‘mﬁawﬂé&e%gaﬁ%e) O Td GUHS (FICH! SIRblee JHeT @i
. 'I’”ﬁ l ; ; T 2 (T3 Tk IR Tfaredr)
: (<]
ilsl‘l:rnatlongl Labour Organisﬁz e&rLg) (i) Economic (SI4fe%)
Wm_ﬁf&ﬁ;g e Pilup the gap) (i) Social (AEF)
V1o (ILO) @By 2T | (iii) Psychological (FCAIIEIS)
(9) Strike ig , A Nfer 512 o5 791 (iv) All of the above (82T S0
ands of th tate Weapon in the () Reasons for failure of different workers’
———"t0 be used by them. participation schemes in India is
e €1y T pers (Fill up the gap) (Choose the correct answer)
i TIIAT__ e TS ARBITIS W I SRR
SOt Stoye Rule’ waq (3ifer 312 779 79, e R dlRe (AP Tewchl FR i)
o advocc'flted BY. s (i) unhealthy labour relation
s Fay (Fill up the gap) s <5 79T
e Rzl
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(@) illiteracy of the workers
Hfi Pl
(i) delay in decision makin
g
| P sizvre st st
(iv) All of the above

7S S it

(m) Factories Act

(Choose the correct answer)

A Gz Sewor 1f2 Bfeed)
) 1950 (sveo)

(ii) 1949 (538%)
(i) 1947 (>589)
(iv) 1948 (558b)
(n) Trade Union Act

o - Lﬂ%}(ChOose the correct answer)

(7o Temry
() 1912 (spsy) By

(iz) 1926 (vo3v)
(i) 1928 (353w
(itv) 1930 (5590)

[O) A sound discini:
possess dlsmphnary system should
(Choose the correct answer)

“@Twwwﬁamﬁ
(% Tewzs) aife S ed)

i
(} RUICS and regulation Should be

reasonable

FREETR T 2 sy
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(ii) Causes related to the worker

FRePTIZ A F9re Givw 23 A1l
(i) Examine the witness
A #ifw 41
(iv) None of the above
87 Ble T2
2. Briefly answer the following : (any five)
2x5= 10
oS AR b O 74l ¢ (e Aisor)
(@) What is labour absenteeism ?
Ml Sisifye i 2
(b) What is closure ?
IS e e 2
(c) Write the meaning of retrenchment.
RGeS wef |
(d) Write a short note on strikes.
B2 4RI foret |
(e) What is collective bargaining ?
IR JRTRAS M 2
(f/ What is recognition of trade union ?
fi ARG Tl A1 il T 2
(g) Write the concept of Lock-outs.
o WG 4IEACH! 1
(h) What is lay-off ?
(-7 e f 2
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3. Write short answer of any four of the

following : 4
5x4=20 r
O RIcaIeal BIfAIT 5 TS fore
(a) What is productive bargain; ;
sharing ? SRR and. gain
%WQ%wﬁﬁammw@% TR STITey
?

(b) Write the provisions of employment of
young persons under the Factories Act

PRI O WS Faeres A
fesTE &7 | ki

(c) What are the provisi '
e p lons relating to lay-
(12159 5191 Tf® Rangg o

(d) State the grievanes handling procedure

@mﬁwr%waﬁémﬁwgm|
(e) Write the role of tr
collective bargaining,

Wﬁ@?ﬂﬂ’cﬁg@mﬁ{
) “WW

(f) Write a note on human’
management,

R AT21% SHIBIER @i iy B fara |

(g) Write the nature of i
industria] relati
Soaiel 51' I 71910 Gfve ERFF@‘{T{Q GE i
(h) What is multiplicity of trade union ?
I 7291 =T Wity &2 W

ade unions in

resource
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Write long answer of any four of the
following : 10x4=40
w54 Rizizel BIRGIT I2E1E Oed forall ¢

(a) What are various provisions relating to
health under the Factories Act.

PR T3S SIS FZIETS [T < o7l |

(b) Define industrial dispute. What are the
power and duties of authorities under

the Act ?
et bRl GRICEAIES SRR ISR BEa s
G 0! AR Wi & o |

(c) Write the meaning of grievance. Explain
the grievance redressal machinery in

India.
eoaq w374 | olNedd© 8T FAevife w9

FRILAAICER 7|

(d) Discuss the process and importance of
collective bargaining.
FEETTE IMEBAE afS O @y {7l |

(e) What is Joint Management Council ?
Discuss the objectives and functions of

Joint Management Council.
@ ARGEH! 0w 57 T ARG T
Gy ST I SICEToAl 4 |

() Write the objectives of the ILO. Explain
the organisational structure of ILO.

LO= By ferdl | ILO= FHRA ST SIS IR
IGEN
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(g) State the concept of industrial relations.
What are the factors affecting industrial
relations in changing environment.

TSTIE THFT A=ACHT B2t | RS

WWMW%WMCW
IR

(h) What are the factors affecting growth of
trade union in India.
SISTIS Wi AT T /3 s i ol
e sRre?

() What are the salient features of the

Industrial Employment (Standing
Orders) Act, 1946 ?

Industrial Employment (Standing

Orders) Act, 1946 3 &3R8 @ & 2 |

() Write the origin and growth of trade
union in India.

CIEICLEI AR R ot o T/
EEGREE
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